
Rešitve za ploščino trapeza: 

3. naloga   

                                         

 

p = 
4+6

2
 ∙ 5 = 

10

2
 ∙ 5 = 5 · 5 = 25,  p = 25 cm2 

                                                        

 

 

 

p = 
3,4+6,8

2
 ∙ 2,5 = 

10,2

2
 ∙ 2,5 = 5,1 · 2,5 = 12, 75;   p = 12,75 cm2 

                           = 1,5 dm 

 

                            

p = 
1,5+6,8

2
 ∙ 0,6 = 

8,3

2
 ∙ 0,6 = 4,15 · 0,6 = 2, 49;   p = 2,49 dm2 

učbenik str. 169 

1. naloga 

p = 8 · 8 = 64 e2 

4. naloga 

 


